# **TTL Proposal: Proposed Modifications**

#### **Date:** 2006-07-19

#### Authors:

Name	Company	Address	Phone	email
Marc Emmelmann	Technical University Berlin	Einsteinufer 25 10587 Berlin, Germany	+49-30-314- 24580	emmelmann@ieee.org

**Notice:** This document has been prepared to assist IEEE 802.11. It is offered as a basis for discussion and is not binding on the contributing individual(s) or organization(s). The material in this document is subject to change in form and content after further study. The contributor(s) reserve(s) the right to add, amend or withdraw material contained herein.

**Release:** The contributor grants a free, irrevocable license to the IEEE to incorporate material contained in this contribution, and any modifications thereof, in the creation of an IEEE Standards publication; to copyright in the IEEE's name any IEEE Standards publication even though it may include portions of this contribution; and at the IEEE's sole discretion to permit others to reproduce in whole or in part the resulting IEEE Standards publication. The contributor also acknowledges and accepts that this contribution may be made public by IEEE 802.11.

**Patent Policy and Procedures:** The contributor is familiar with the IEEE 802 Patent Policy and Procedures <<u>http://ieee802.org/guides/bylaws/sb-bylaws.pdf</u>>, including the statement "IEEE standards may include the known use of patent(s), including patent applications, provided the IEEE receives assurance from the patent holder or applicant with respect to patents essential for compliance with both mandatory and optional portions of the standard." Early disclosure to the Working Group of patent information that might be relevant to the standard is essential to reduce the possibility for delays in the development process and increase the likelihood that the draft publication will be approved for publication. Please notify the Chair <<u>stuart.kerry@philips.com</u>> as early as possible, in written or electronic form, if patented technology (or technology under patent application) might be incorporated into a draft standard being developed within the IEEE 802.11 Working Group. **If you have questions, contact the IEEE Patent Committee Administrator at <<u>patcom@ieee.org</u>>.** 

#### Abstract

#### This presentation presents flaws in the Theoretical Throughput Limit TTL proposal 06/928r0 and presents amendments resolving them.

#### Average Contention Window

- Given the made assumptions, the back off employed for each transmission of a frame
  - is uniformly distributed in between [0,CWmin],
  - has a mean of CWmin / 2, and
  - is thus a random variable
- As the throughput, here TTL, depends on the back off
  - the TTL is a random variable as well, and
  - its mean is NOT restricted to integer values
- This is not reflected in the TTL proposal text 06/928r0 but shall be --> incorporate required changes in 06/928r0

#### **Example calculation**

- The reader should be provided with a reason why a frame size of 1024 octets has been chosen for the example calculation in Section 4.4. At least the choice should be marked as "arbitary"
- Additionally, a note should be included to provide information on the max. allowable MSDU size for .11 frames (2304 octets without encryption). Possibly, reference to 802.11 Section 7.1.2 could be included.

Slide 4

### **Changes resolving these issues**

#### Changes to TTL proposal (1)

- Section 4.1, Step 3: change "Best case backoff = CWmin / 2 = 15 / 2 = 7" into
  "Best case backoff = CWmin / 2 = 15 / 2 = 7.5"
- Section 4.2, Step 2: change
  "Best case backoff = CWmin / 2 = 31 / 2 = 15" into
  "Best case backoff = CWmin / 2 = 31 / 2 = 15.5"
- Section 4.3, Step 2: change
  "Best case backoff = CWmin / 2 = 63 / 2 = 31" into
  "Best case backoff = CWmin / 2 = 63 / 2 = 31.5"

## Changes to TTL proposal (2)

- Section 4.4, Step 2: change "Best case backoff = CWmin / 2 = 15 / 2 = 7" into
  "Best case backoff = CWmin / 2 = 15 / 2 = 7.5"
- Section 4.4: Adopt the "Example Calculation" accordingly
- Section 4.5, Step 2: change "Best case backoff = CWmin / 2 = 31 / 2 = 15" into
   "Best case backoff = CWmin / 2 = 31 / 2 = 15.5"
- Section 4.6, Step 2: change "Best case backoff = CWmin / 2 = 31 / 2 = 15" into
  "Best case backoff = CWmin / 2 = 31 / 2 = 15.5"

### Changes to TTL proposal (3)

Slide 8

- Section 4.7, Step 2: change "Best case backoff = CWmin / 2 = 7" into
  "Best case backoff = CWmin / 2 = 15 / 2 = 7.5"
- Section 4.8, Step 2: change "Best case backoff = CWmin / 2 = 31 / 2 = 15" into "Best case backoff = CWmin / 2 = 31 / 2 = 15.5"
- Section 4.9, Step 2: change "Best case backoff = CWmin / 2 = 31 / 2 = 15" into
  "Bost case backoff = CWmin / 2 = 31 / 2 = 15 5"

"Best case backoff = CWmin / 2 = 31 / 2 = 15.5"

## **Changes to TTL proposal (4)**

• Include a footnote in Section 4.4, Example calculation, Step 2 as follows:

"The chosen frame size of 1024 octets is arbitrary and represents a typical MSS limit as found in LAN. The maximal employable value corresponds to the max. MSDU size of 2304 octets for unencrypted data delivery (ref. to 802.11 Section 7.1.2)"

#### References

• 802.11 REVma D5.1